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No. of Questions : 100
ol & " ¢ 100

1

Time :25 Hours Full Marks : 300
1

oaa ; 23 quz gurfl';am

Note : (1} This question booklet contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark wiil
be awarded for each unattempted question.

T uwi-gitaer § 39 100 (€) 97 & (@~ o H 30 7
ws-g § 70 )\ JAfEYE awE B s H W AGH B
g w3 (M=) o/t =1 B 47% T ouv % W %
SF FET A A® FNRG I & AW g o
(2} f more than one alternative answcrs seem to be approximate to

the correct answer, choose the closest one.

TR uPHaeh AHieTs IO o IO @ e gdid #f, @ P
& o 1

3 ?.7.0.
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01.

02,

Section-A
Hvs-A

P.W.D. Act, 1995 is related to -
(1} People's works department
(2] People's welfare department
(3] People with Disabilities

(4) People with disease

dte s=go dlo mwae, 1905 W A B
(1) dgew gt faard= @
{2) diges Fadax feurda= @

(3) tﬂgﬁﬁta%mﬁga%
(4) dga faw feefig @

National Institute of Mental Health and Neuro Sciences is situated at -
1} Lucknow (2) Bhopal (3) Bangalore (4) Delhi

%Wﬁwmﬂwmm@m%ﬁwa%:
) s&FHd (2) sige {3) ST H (4 Rl #

The Cabinet of which state in March 2012 decided to give a grant of
Rs. 30,000 to high schoo] pass Muslims girls for perusing their
education and marriage ?

(1) Uttar Pradesh (2} West Bengal
(3) Andhra Pradesh (4} Delhi

%ﬂm%ﬁﬁm%mﬂzmzﬂaﬁ&g@mwwﬁ
ﬁaﬁ%ﬁmaqefﬁmﬂ%%&m,mﬂmﬁmsﬁmﬁmmaﬂ

Moy fomam 2
(1) I 9397 (2) ot S (3) Y W (4) fresh
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04. Who wrotce the famous book - 'We the people’' ?

(1) T.N. Kaul (2) J.R.D.Tata

{3) Khushwant Singh (4) Nani Palkhivala

“ft 1 dige”’ AR AR T eae el o 7

(1] <o Hao Hw A (2) Fo Ao Ho ZET A
(3) weE= g A (4) A grerEEET |

05. Thc theme of the 11" global monitoring report 2013-14 of UNESCO
was :

(1} Teaching and Learning : Achieving quality for all
(2) World Peace : Education and value

(3) Environmental Pollution

(4) Women Empowerment and Education

TR & YEdl Wee Hieftr Rad 2013-14 @& 9w RAwg
(1) A gog At - ofafdr el B ol

2) aws 9@ : Rnew ol &9

(3) T JgIH

(4) TE TR T TR

06. Who is the present director of NCERT ?
(1} Prof. J.S. Rajput
(2) Prof. Parvin Kiran Sinclair
(3) Prof. A. K. Sharma
(4} Prof. Krishna Kumar

ad e & G SR, B RS FA B 7
(1} @, F.ug. Y 2) . @A FE AT
(3) W. . H. T (4) =Y. T FAT

5 PiTlDt
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07. NEUPA was established in -

(1) 1976 (2) 1986 (3) 1996 (4) 2006
a1 # e gd R
(1) 1976 # (2) 19867 (3) 1996 (4) 2006 H

08. NIOS is known as -
(1) National Institute of Open Schooling
(2) National Institute of Open School
(3) National Institute of Overseas Schooling

(4) National Institute of Open Scholars

U9 90 3 TH S oy £
(1) %smasﬂaﬁ;q\zmeﬂﬂﬁﬁg%iw
(2) AT $rege ol ofiey

(3) %smmgmmmw
(4) AT FHICTE SNS afT wrfer

09. EDUSAT satellite was launched on
1) 20 September, 2003 (2) 20% Septeinber, 2004
{3] 20% September, 2005 (4)  20™ September, 2005

® Y 08 TS o Juyy

(1) 20 Rz, 2003 F Ry w4y o
(2) 20 feemaT, 2004 % fFar Ty o
(3) 20 faame, 2005 i fEgr T o
{41 20 R, 2006 F By @y oy
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10, The full formof NTS Eis:

11.

12.

13.

(1) National Technician Search Education
{2} National Teacher Search Examination
{3) National Talent Search Examination

(4) National Talent Selection Examination

A A qE § w oY A 3

(1) AT TFIRET a oI
@) AvEe fag g ogtEeE
(3) Agre AT TE gFNEAIE
(4) Awraw ¥ WA gFHANA

3, 10, 101, ?
(1) 100101 (2) 10201 (3} 10202 (4) 11012

If S is the brother of N, the sister of N is M, the brother of P is J and
the daughter of S is P then who is the uncle of J ?

1y J 2) 8 (3) N 4} M

g SR TR gET Y, TH AE A& AW "
qR Ao & e BB ?

(1) =t 2) 8 (3} = (4) H

Child : Family
(1} Flower : Bunch (2] Bird : Set
(3) Calf: Herd {4) Deer : Gang

? PITI D‘i
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14,

15.

16.

17,

18.

we=qT ¢ gQiary

(1) & : =8 (2) ™= : wye

(31 FBET : HYU5 (4) ARg : For

Which word does NOT belong with the others ?

{1} leopard (2)  Jaguar (3) clephant (4] lion
ﬁqﬂﬁﬁqmammﬁﬂﬁﬁuaqﬂ%?

(1) < (2) dgsmr  (3) ereh (4) 9%

Which word douecs NUT belong witly the others ?

(1} puitar {2) e (3}  wviolin (4) sitar

T &% 8§ &9 ofa | drafgg T8t & 7
(1) P (2) s=rgd (3) amEfes 4) faa

FAG, GAF, HAL IAH,
(1) JAK (2) HAL (3) HAK (4) JAI

mqﬁ,ﬁﬁqm,uﬂqaﬁ?‘,aﬂ%qw, ....... -, S
() FTS 2 @ow 3 wad (@) F T om

Life is related to Death in the same way as Hope is related to :
(1) Sad (2) Deuspair 3) Pain {4} Cry

Gﬁﬂnﬁﬁ@*ﬂﬁﬁ%mmmmﬁqﬂ%:
(n 3= & (2) Fom & (3 == @ (4) PFreem &

Mind : Body ::
(1)  Water : Air (2) CPU: Hard Disk
(3] Ship : Qil (4] Software : Computer



19.

20,

21.

14U/93/4{}i)

79 ;X o
(1) 9 : &= 2 @Y : sERw
(3) BT : A (4) HIFEAYT : FGX

Which number would replace question mark in the series

7,12, 19, 7 39

U§¥aEE B T 9T F qAgT
(1) 29 (2) 28 (3) 26 (4] 24

Secretly is to openly as silently is to !

(1] scarcely (2) impalitely

(3) noisily (4) quietly

Y Mo gAam B A ¥ A Praa

(1) gowa & R ¥ (2) oMir=ar & R ¥
3 s & A # 4 mFa TR

In order to modify the undesirable behaviour of a student the most

effective method is :

(1} To find out the reasons for the undesirable behaviour and pro-

vide remedies
{2) To bring it to the notice of parents
(3) To punish the student
(4) To ignore it

9 P.T.0.
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22.

23.

w%mw%m%mﬂmmm%

(1) HEST =Te & FRON & TN A HT SHH ITTAT TEH
il

(2) SIS B g wmen
(3) BEFE #H Tog I
14) JuH Y0 HT

At authoritarian level teaching is :

(1) Teacher centered (2} Child- centered
(3) Headmaster centered (4) Experience based
Figar w= @1 fareqer

(1) eAMEH B dar B (2) BH Hf=a Sy &
(3) SUTINE BEET ST ¥ (4) o e B

What type of teacher would you like to be 2

(1) A teacher who teaches the whole curriculum

{2] A teacher who helps his students in learning

(3) Teacher who is a fricnd, philosopher and guide of his students

(4) A teacher who maintains good discipline,

AT A8 SR W SAETE g g ?

(1) 9% o B Q¥ yrgamy A yemrr &

(2) mwvﬁmﬁmﬁfaﬁwmi’%
(3 mwmaﬁﬁﬁsrﬁa?rﬁﬂ,mﬁﬁrcﬁahm%
(4) STeAT9E SN arem wamET w@er &

10
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25.

14U 793 /4{1i}

You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1) You will permit him to ask unrelated question

(2) You will not permit him for this

{3] You will consider him as undisciplined and punish him

[4) You will answer the question after the class

9 wET H U 9IS ggT @ ¥ ofK um wiH us § srdatua ueH
THIAT &1 AT T HE 7

(1) 9 38 TEIFYT 951 98T & gk &

(2) oMY I orHefEd 9¢T B N FAR TE I

(3) oW I/ FEA A T T

(4) A9 FENGC FEH I@T AN

I a student gives wrong answer to your guestion you will
{1) Scold him for not having learnt his lesson properly
(2) Explain why his answer is wrong

(3} lgnore the wrong answer

(4) Ask another student to answer and ignore him

i w% BT YR H¥F H T IS &1 B a9 A9

(1) I & T3 A A$ § 7 g & R =TT

(2) % @ H BF Iger Iax &t T 3

(3) T I 9 eI E N

@) Frt gER B ¥ oWt A @ N M ER e ot

11 B.T.O.
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26.

27,

If I will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
(2] Dictate notes in the class

{3) Clear their difficulties regarding subject-matter

{4] Make student disciplined

R # o oAs S e @ Bu gel wEda w51 an
(1) 9{en & st BrEt H geEyel gvT say 2

(2) F=T F Fremg 347

(3) ﬁ’rwaqﬁwﬁaﬁaﬂaﬁzﬁi%ﬂﬁaﬂaﬁrgm

(4) 8= W aTgafaa S=E

For becoming a good teacher, the most important quality of a person
IS :

(1) Genuine interest in teaching

(2) Knowledge of his subject

(3) Ability to control students

(4} Ability of good expression
wmmw%m,m%ﬁmwm
2

(1) Brrr d afRE iy &

(2) Rvg &1 5= &

(3) Bl A Frife @ % e gl

(4) o ¥l a3 dvaay &)

12
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28. A teacher should plan his lesson before he goes to his class, because

29,

it helps him to :

(1) BSatisfy parents

(2} Create happiness in the classroom
(3) Achieve curriculum goals

{4) Assign home work and classroom work

U HATATTE Hl BT H I & 98 & H9 93 £ a9 a5 S0
MY Faifs a8 I GeEar Far ® o

(1) SRER ff g FE |
(2) =T # = S w §
(3) UZTHH & TEg H Wi
(4) TEHE ud PR AS= S |

"Every school ! subject has a disciplinary value,” it means, that :
(1) It brings discipline among students

(2} It teaches certain habits and qualities to train the minds of
students

(3} Every subject is the outcome of the work of disciplined thinkers

(4) [t requires disciplined methods of teaching

“aeae R RwE 8 UE 0% STIEEIeT e o B, gHE
m%ﬁ?:

(1) =& BET A AgemET @ &

(2) 9% =@ B Aiaws & FB AEl @ Ol § o @ @
(3) T favm e fast & Hd w1 I 8

(4) ] ergtaT famror RAfy & srevasar ol ¥

13 P.T.0.



14U/93/44ii)

30. Indian education put emphasis upon :
{1} The tradition of Indian society
(2) To give Honour to elders & teachers

(3) Cultivation of values
(4) All of the above

AT e qeey 3 8

(1) 9™ aae &t 9o gy
(2) NS wF FST B W yy
(3) Wdg Ty @ gafy gy
(4) IuOwT 9 gy

14
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Section - B
HqvE-o
31.The direction cosines of the normal to the planc x + 2y + 2z - 1 = 0 are:

AT x+ 2y + 22— 1 =0 B Al N Bg v € -

(1) (2)

Lad | =
L | =
| —
[P
L | b2

k
I3I

3
i4i

| =
| —
o | —

(4)

oy |
b |

(3]

332. The radius of the circle ;
X+2y+22=15x +y +2 —2y-4z=11is:
qd x+2y +2z= 15.x’+jr?+zﬂ—2y—4z= 115 B

M 3 2 s (3} V7 4} i
33. yz = x has :

{1) One asympiote (2) two asymptotes

(3) three asymptotes {4) no asymptote

y? =x® &mar @ :

{1) U AT (2} A AT

(3) &= sr=aefdfEr 4) PIE ST AL
34. The equation of the sphere is :

M B T ®

(1) 9&’+y’ +2)=5 2} x+2y'+32° =9

(3) 3x+y +z =10 (4) xy=5

15 P.T.O.
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35.

aﬁt

37.

38.

39,

The number of normals that can be drawn through a given point to a
central conicoid is :

ﬁa@@ﬁgﬁ%ﬁamwdﬁﬂ&aﬁaﬁﬂ%ﬁw%:
(1) 4 (2) 6 (3} 8 {4y 9

A square matrix A is non-singular if :

Th T EIE A Tt X o

[1] Az [2] IAJ=U fS] rAI;{} [4} Az =0

If H and K are subgroups whose orders are relative prime, then
O({HAK) is :

qﬁHeﬁtKGtrﬂagifﬁrﬂﬁaﬁwmﬁ%ﬁrﬁﬂ{an)
g
(I} © 2 1 (3] O(H) (4] O(K}

If G is & cyclic group of order 13 then the number of generators of G
i :

ﬂﬁﬂaﬁﬁlawaﬁuw%ﬁﬂ%aﬁaﬁm%:
{1y 1 (2) 3 (3) 12 (4) 16

If G is a cyclic group of order 30, the total number of subgroups is

wﬁeaﬁﬁanwaﬁqﬂ@%fﬁ@w@aﬁwm%;
iy 5 2 & (3) 8 (4) 9

The order of (-i) of the multiplicative group {1, -1, i, -j} i :

JTHE YT {1, -1, i, -i} & (i} & sy § -

16
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2 21
41l. The eigen values of matrix : L A larc:
1 2 2
221
1 31
e |, & A g B
{1y 1,1,5 2 1,3,5
(3 2,3,5 4y 1,3,7
2 3 .
42. IfA=| | thenA is
23
el Jane.
43 42 3 3
5 5 T 7 w Y
1 |1 2 (2 1 2 B |1 2 (4)
5 5 il ! 2 5
(O
' 1 x|=0has:

43. The equation [*

(1} only two distinct roots

(2) two pairs of equal real roots
(3) one¢ pair of equal real roots
(4] three pairs of equal real roots

17

i s | —

L L | e

P.T.0.
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(1) &/ D T899 gw &

(2} ﬁmwmﬁmﬁa%
(3) UF I U anafaw g ¥
(4) Eﬁagmawamﬁmﬁf%

The value of J'"f;e_l dx jg ,
i}

at

J’v'r;c'x‘dx W AF R

Vr

yr
3 4

(1) (3)
A man walks at a speed of Bkm. /hr, for
next 1km. His average speed for the walk of 2km. isg -
Uk HEH 6 Fefto gftraoer @ O @ 1 Pfio
l ﬁh”:ﬁ'a, 8 frrto
fRomfla T IC R ;

(1) f},—lkm-fhr. (2) —SEkm.,fhr.
7
4
(3) —;ikm-fhr- (4) E?;S—km.fhr.

18

(4)

2=

Ikm. and 8km./hr. for the

T 8 ofi e
Hﬁmﬁaﬁﬁm%:maﬂ'ﬂamz



46.

q7.

48.

49.

14U/93/4{it)

Two bodies of masses m and 4m are moving with equal kinetic energy.

The ratio of their linear momenta is :

m 3T 4m TAT F g1 Wvs gu=L 1fowr ST S ary fasfia &1 358
s st & orgu ¥

(1] 1:4 (2) 4:1 (3) 1:2 (4) 2:3

1
The envelope of the family of lines y = m’x +F IS :

(1) circle (2} ellipse
(3) parabola (4) hyperbola
st y=mﬂx+# & FHA & AAGING B -
(1) g ) 4 ga

(3) 9Id<H (4) AT wEag

The angle of intersection of the curvesy = 4 - x' and ¥ = X is

g y=4-x M y=x & F9 &g 9 &1 A1 8
I -1 "IE -1 -1 JE
gr = [?] (2) o [—;] (3) ot [%] (4] ot [T]

The asymptotic, parallel to the axis of x, of the curve
y3+x2y+2xy=—y+1=ﬂis:

B Y+ Xy + 2y —y+ 1 =0H x-HY F AL FFawdi B :
(1) x=0 (2) x =y (3) y=0 4 y=2x

19 P.T.O.
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. lopx
50. !-l—-n;cmx Is equal to :
. log x ]
e P " aET B
(1) © (2 1
X Fsinx .
9l -[__'__-i+cosx 1s equal to :
X +sinx
dxw -
-[H CO5X 8
(1) xsin-;E (2) xcos%

. 1
52. The value of 1'—«[225: F[nz_rz) is :

53.

limH——I—— .
ﬂgm H A ¥

m 3 @ 3

(3)

(3)

(3

b | —

T
4

| —

(4)

(4} x tanx
"
(4) Py

d
Ify=2x"—ox®+ 12x + 25, the values of x for which 'd—i: =0 are:

zrf%y=2x’-9x“+12x+25,x% A e R ;—i§=n € -

{1y 1,2 (2) 3,4

(3)

1
38

(4) 5,6



54,

55.

56.

87

14U/ 93/ 4Hii)

$LV-3 uses propellants :

(1) Solid (2) Liquid
(3) Solid-liquid {4) Biliquid
ug o d41-3 § Fre Oidere wdnT gar & -

(1) =9 (2) 9w

{3) SHA-TA (4) RIS

Which of the following halides is most acidic ?

foe oSt & 9 Gwq ifts aiRlg & 7
{1} PCL (2) SbCl, (3) BiCl, (4) CCl,

The first use of quantum theory to explain the structure of atom was

made by :
(1) Heisenberg (2) Bohr
{3) Planck {4} Einstein

Fien SN @ TV wea @ v 3 R ad gun s R
mar B % 3

(1) ==t (2) #wY (3) TAEH (4) HARFEHA

which metal is used as a coating on steel 1o prevent corrosion ?
mﬁma@mwmﬁaﬁa‘mﬂrﬂﬁﬁ%m:
(1} Na 2) Ca (3) Cu ) Zn

21 P.T.0.
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58,

59,

60,

It the specific conductance and conductance of a solution are same,

the cell constant is equal to :

qﬁﬁmﬁf&waﬁﬁquﬁwwa%ﬁ%ﬁ
(1) o 2) 05 (3) 1.0 {4) 10.0
Which one of the following will lower the activation energy for a
reaction ?

1} Addition of a catalyst

(2} Increase in the concentration of reactants

(3] [ncrease in the temperature of the reaction

[4) There is no way to lower the activation energy

. ; . ... N
The normality of a solution of sulphuric acid is 10 1ts molarity will
be :

ﬁﬁﬂgﬁm%%%@qa&#ﬁﬂm%%eﬁsﬂaﬁmﬁw
anft

M M M
a5 @ 2 @ - (4) %

22



61.

62.

14U/93/ 4{ii)

T.N.T.isa:

(1} Medicine (2} Vitamin (3) Disease (4] Explosive
dloticdio B uF :

(1) =& (2) Rema (3 & {4} R

The massless particles are ;

(1) a-rays (2) P-rays (3) 7y-rays (4) protons

AT Tea & 2= F
(1) o-fmeor 2) p-FRTOr (3} y-RECm (4] Sre=

Isotonic solutions have :

(1} the same freezing point {2) the same boiling peint

(3} the same surface tension {4} the same osmotic pressure
FIIaEeeT FeEs # dan 8

(1) us & fewim (2) oH & FEAYATH

(3) ©H & Y= ag (4) UH & 9IEY "

A system absorbs 100 KJ heat and performs 50 KJ work on the

surroundings. The increase in the internal energy of the system is :

% @ 100 KJ I 9 wxar & o< 50 KJ & 9f e 9 saifda

FIOT & O IF a7 #H arafid Hot A gfx Srf ¢
(1) S0 KJ (2) 100KJ (3] 150K (4 500 KJ

23 P.T.0O.
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65,

67.

68,

69,

The efficiency of a heat engine operating between 400K and 300K is:

?ﬁwﬁaﬁmnxq&am&%ﬁaﬁmﬁm&wﬁm
(1) 1.0 (2) 0.75 (3} 0.50 (4) 0.25

()
. For a real gas, ETaRCE

{1) Zero (2) Negative (3) Positive (4) Infinity

et et i & fore, (%) e 2

(1) = (2) *RUTHEF (3) 99THS (4) ¥
The intensive property is :

q=H] EET 97 ¥

(1) AU (2)  aH (3] AG (4) C

The unit of surface tension of 5 liquid is :

Bl =T #t g & g Py Bt -
(1) Kgmls! (2) Nm- (3) Kg m2s! {4) Nm-?

The particle size of colloids ranges in between :

(1) 1-10nm. (2} 1-50mp.

(3) 10-100 pm. (4} 1-50 um.
HAES B B HFR e & = Bk B

(1} 1-1039r o (2) 1-50Ffo Ay
(3) 1- 100 7meR Ho (4) 1-50m3H Ho

24
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70. Al nucleophiles are :

71#

T2,

{1} Arrhenius Acid (2} Lewis acid
(3] Bransted base (4) Lewis base
o gfrEe @i R

(1] IfefFaa e (2) TFH A
(3] AWS &R 4) TEE &

Vinegar is a :

{11 75% solution of acetic acid in water
{2) 50% solution of acetic acid in water
(3) 25% solution of acetic acid in water

(4) 40% solution of formic acid in water

T s ®

(1) 75% ufafes oftis =1 o9 & 919
2) 50% cftfes ofys @ o & o9
(3) 25% ufefes ofE & s § 9w
4] 40% wite ofys @ o § a9

Which of the following compounds will give a positive test with Fehling's
solution ?

(1) Formaldehyde (2) Acctone

(3] Ethylacetate (4) Acetic acid

s difrt 7 e SeRiT Reaa & g awrrss ofis &m ?
(1) wieEeRs (2) CHRE

(3) ufeaERe (4) oftiew ofbs

25 P.T.0.
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73. Acetic anhydride is obtained by the reaction of -
(1) Acetic acid with sodium
(2) Acetic acid with diethyl ether

{3) Acetic acid with water

(4) Acetic acid with P.0,

WHeE FETEERs WA Aar ¥ P @ B | o
{1) offes o @1 difRtgw &

(2) wefew o<1 o o1 gummdr @

(3) fafes arw &1 uh @

(4} qﬁrﬁmmiﬁrmﬁrﬂwhc}sﬁ

74. Dicthy] ether on heating with excess toncentrated HI gives :
(1) Methyl iodide (2) Iso propyl iodide
(3) Ethyle iodide (4] n-propyl iodide

gﬁmﬁmﬂﬁaﬁaﬁmaﬁaﬁmaﬁmﬁﬁ
TH & q¢ ey 37 2

(1) Praga smiens (2) TE s ondeEs
[3) FUIs HFEREs (4) wF-UuEE ardERs

75. How many isomers are possible for hexane 2

%ﬁ?%ﬁsﬁwmﬁ?
(1) 4 2) 5 (3) 6 4] 7
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76.

77,

T8.

79.

14U0/93/44ii)

Which of the following hydrocarbons has the shortest ¢-¢ bond length ?

Fre gregisea # BpEa®l cc 57 792 999 &9 8di & 7
(1) CH,=CH, (2) CH, CH,

i3} HC=CH {4) @

For Compton scattering at 90° the effective siuft in wavelength is :

50" 9T e fawdiie 3g a3 2vi & guE ®EreT e g
(1) 0.242 A° (2) 242 A°
(3] 0.0242 A° (4) 0.00242 A°

If Lhe separation between the two slits i1s d and the width of each slits
be a then what requirement must be met for the central maximum of
the envelope of the double slit fraunhofor diffracation pattern to contain
exactly cleven fringes :

gfer & Rae foosen) & fter a3t d 08 gdls foe & e
a%ﬁsﬁaﬁﬁu)mmﬁﬁwﬁ@?%ﬁmﬁﬁﬁ

e fEol &) o &3 8g TEWEE I B
d

13 d
i =S @ =5 6

Is g o
; (@)

._.

v
|
120

L

A star emitting light of wavelenght 5896A° is moving towards earth
with a speed of 3600 km. per sec. If the speed of light is 3x 10" m.;
sec. then the apparent wavelength to an observer on earth well be
about :

o aRT PR P a g 3 a3 e 589eA’ B, gEh 3
ma&num.;sec.ﬁaﬂ%a@m%uﬁma&maum’ﬁt./ﬁ.
a,ﬁamﬁ?ﬁmnﬁ,wmmgmm:

(1) 5825A° (2) 5967 A° (3} S587LA’ [4) 5921 A°

27 P.T.0.
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80.

81.

B2.

Twa linearly polarized light waves with their planes of polarization at

right angles to each other give rise to :
(1) circular polarization (2) eliptical polarization

(3} linear polarization (4} no polarization

%mmﬂﬂmﬁ,hﬂ%gﬁaﬂa@@%%w&%
-

(1) Mg g (2) Sdgeita gtz
{3) & g (4) W3 gfweer a8

A thin less of focal length 12 cm. is immersed in water (k =1.33).

What is its new focal length for the objects immersed in water P

wmhﬁaﬁﬁm;&mﬁnﬁ%aﬁﬁﬂgﬁﬁmm
%laﬁméﬁqﬁﬁwftwgaw%,mmgﬂﬁvﬁ;
(arfy &1 p =1.33

{11 18 cm. (2) 24 cm. (3) 6cm, (4) 3cm.

For a Vander Waal's gas the Jaule Thomson coefficient is given by :

**amm%”%fﬁq“wwgﬂmﬁ”@m%:

_t(2 ] 2a
(1] “‘cp(m “J () “_;;(h“E]TJ

_ L _ _ 1 (2a
@ wes- ) @ » =57
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. = a_ OB
83. The Maxwell's equation VxE= G represents :

84,

(1} Ampere's law (2) Faraday's law
(3) Biat Savard law (4) Gauss's law

Aggasl &1 @Him ﬁxé=_aa_? wafdid ®n &

(1) offaay Fam (2) w2 & Fraw
(3) sEe e @ | @) T @ P

If the light is incident on the plane surface of a material whose

refractive index is t at an angle of incidence ¢ such that tang = »
then :

(1) the reflected light is completely polarized
(2) the refracted light is completely polarized
(3) both the reflected and refracted light is completely polarized

(4) the refracted light is completely polarized but the reflected light
is partially polarized

afr aF WEST F Reer Rre gard & @aad g 9X stfea Bl g,

e oTyaetis p B, ot otaeE Y g 59 WR % 6 tang = ¢

a4 .

(1) TEfda B @ gt ave gaEga ¥

(2) wAqafd e @ gt A ghgd B

3) omafia wd axEkia dF @ T aE gaeT ¥

(4) RErda e = Ol awe ghiga ¥, wals SRk BT
aifares &9 { yefipd B

29 P.T.O.
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85.

8T.

The refractive index of a nonmagnetic dielectric material with dielectric
constant ¢r is given by :

T AT SHAH R e “sEdfRn Prgaies er &,
IEHT WA &

1 er Ho
0 Jer I~ I @ =

(1) 198mA  (2) 2.0ma (3) 2.18mA (4) 2.08maA

The break down voltage for a Zener diode is 20 volt. The break down is :
(1} due to high electric field in the depletion region
(2) due to high velocity of minority carriers in the depletion region

{3) due to tunnelling of majority carriers through the depietion
region.

(4) due to collision of minority carriers with the majority carriers in

?ﬁmmsﬁ?mm(mﬁ)a@zuvﬁrm

(1} 3T &9 7 g=1 gy ax

(2) 9% 819 d oreq umEt 1 gy

(B3) T &% ¥ 3wt B 3R

(4} mm%ﬂﬁaaamﬁqﬂmamaﬁw
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88. Kirchchaff's law of junctions for the distribution of current in any

89.

electrical circuit is based on the principle of :

{1} Conservation of charge {2) Conservation ol energy

(3) Conservation of momentum (4) Conservation of mass

et fage v & arr Rarer 3G Bete & SR & e T
¥ fpa faera gt smaia ® -

(1) 3TEY FTEOT @) FHAt TXem
(3) T GO (4) E=TIE EToT

The electric potential at the center of a cube of sides of length a with
charpes q placed at each corner is :

2q 1 4q 8q
Jire, a B Jirea B frea

o 3 T Prs genell A @ a ¥, od Pred adw Rt ©
q ot @ g ¥ 1 oud d% X Rl R @

(1) Zero (2)

_ 2q 1 4q 8q
(1) = @ Jrea @ fBrea B Jree

. The impurity atoms with which pure silicon should be doped to make

p-type scmiconductor is ?
(1) Arsenic (2) Boren
(3) Phosphorous {4] Sodium

wmwmwﬁﬁ@mﬁﬁp—wwmﬂ“ﬁ
& farg Pramm sien =nied Y

(1) e (2) WA

(3) HIEHTE (4) WFAH

3 1 ’.T40|-
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21.

gzi

93.

A resistance of 10} and an inductance of 100m.H. are connected in

series with an AC source V = 100 Sin(100t). The phase difference
between the current in the circuit and applied potential will be :

TF ToHl HIT V= 100 Sin(1001) @ ws 100 T AR v 100m.H
m%m%ﬁmﬂwgmﬁ,mﬂﬂmqﬁwm
& dra F HE N E Ko

(1) = @ 3 ) @)

W
4= | H

A heat engine operates between cold FeServoir at room temperature
27°C and a hot reservoir at temperature T. It takes 300J of heat from
the hot reservoir and delivers 180J of heat to the cold reservoir in a
cycle. What could be the minimum temperature of the hot reservoir ?

%WW@%W(WWETC)W"#W(WT)
%aﬂafﬁsmﬁa%iqséﬁwwwfrnﬂwﬁsom,wm
ST 180J 5 A19 378 oMy W Wa HTm B swmera oy
IR QI e & gt 7

(1) 400°K (2) 500°K (3) 600°K (4) 550°K

taken by the liquid to cool from 60°C to 50°C if the temperature of
surrounding is constant at 30°C.

(1) 7 min. (2 9min.  (3) 6 min, (4) 8 min,

qzﬁmmzﬁrm“cﬁﬁﬂ"cwamsﬁmeﬁmﬁmw
%,Bﬁmraﬂmwan“cﬁsn“cﬁmﬁmﬁé’rmmﬁ:ﬁ
wﬁﬁuﬁﬁﬂﬁmﬁmaﬂ‘c e

(1) 7MR=e @) 9z (3) 6REme (4) 8fa=e
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94. The system can be taken from the initial state PV, to the final statc

95,

P, V, by two different methods. If AQand AW represent the heat
given to the system and work done by the system respectively then
which of the following must be the same in both the methods ?

% AUl B8 gfes sEwm p v A sifm sEwn PV, S R
faftr aft § @ T B AR AQ ofiX Aw @I wowRht @ A
o Fen M ufr @ N e e s i =R s ¥, @
frafafag & @ SF-T1 = a1 el & R g9 e 7o

(1} AQ (2} AW (3) AQ+AW (4] AQ-AW

When a drop of oil is spread on the surface of water, it displays beautiful
colours in daylight because of :

(1) dispersion of light {2) refraction of light

(3} diffraction of light (4) interference of light

o A9 3 o g% B 9 @ Fae 9 e S 8, O 9% R @
g ¥ GEgRd T W e w B | SEH SRV B

(1) STERTST 31 Hehroi| (2) SERTST BT ST

(3) wES & FEedwer (4) WY1 Y S
Bernaulli's theorem is based on the principle of conservation of
{1} momentum (2) mass

(3) energy (4} angular momentum
el Ty Fras deeer @ Ryera 9 o § -

(1) & @) E==EH

{(3) IO (4} SRy HAT

a 3 P‘Tuu-
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97.

931

99,

The length of a metal wire is I, when the tension in it is T, and
when the tension is T,. The natural length of the wire is -

the speed of S, relative to 3, when 3, i1s closet to 3,.
(1) = x 10" km./h. (2) 27 x 10" km./h.
(3} 3mx 10" km./h. (4) 4mx 10" km./h.

P, o $,8 & W R &g @

() 7 x10"km./n, (2) 27 x 10" km /h.
(3) 3z x 10" km,/h, (4) 4mx 10" km./h,

A cylinder is released from rest from the top of an inclined plane with
angle of inclination 8 and length I Of the cylinders roils without
slipping what will be its speed when it reaches the bottom

%%ﬁa%ﬁwﬂwmm%mﬁ%@ﬁ@am
%,Wﬁmﬂﬁmfﬁm(w}a%,aﬂ?%ﬁﬁﬁam
wﬁmﬁmﬁgﬁﬁgﬁaﬁmwmﬁ%m%ﬁaﬁm

1
| .
1) asee g J7eisi0 (3 G ()
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100. A light rope fixed at one end to a wooden clamp on the ground passes

over & tree branch and hangs on the other side. [t makes an angle of
30" with the ground. A man weighing 60kg wants to climb up the
hanging rope. The wooden clamp can comc out of the ground if upward
force greater then 360 N is applied to it. Find the maximum
acceleration in the upward direction with which the man can climb
safely. Neglect friction at tree branch and take g = 10m./sec?.

{1} 4m./sec’. (2) 2m./sec’. (3} Im./sec?. (4) 3m./sec’.

waﬁr@mmﬁﬁmwﬂqwﬂé%aﬁ%@?ﬁw%
gg’rrﬁh—rrrrrﬁsaﬁraﬁﬁ%é}m T8l AR Fewa ¥ O
wﬁ:{ 3uaarzﬁwa=fmr%|w o= a9 60 fhomo B,
R B W T W | aHd B @R o
ﬁa@?ﬁr% 360 T offter e a0 3 HTEYTFRaT &1 S
aﬂ?mﬂ%éﬁaﬁw%ﬁmf&mﬂﬁmwwm
M e, e a8 el ST @ e ¥ gt 9% o 2
(g » 10m./sec?.)

(1} 4m./sec’. (2) 2m.fsec®. (3) lm./sec®’. (4) 3m./sec’.
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10.

11,

12,

13.

14.

arvaféay % forg fdfm
(¥ JIRST & Fog AP0 g6 97 AW I00-9F & o9 et uy
uwr et wmreft ay- gz 97 & o forel)
w7 e faed & 10 e & 3= 8 3 A 6 wew F wft gs dhg & sk s
m@ﬁ#n%%@ﬁmﬁ@mmw—ﬁﬂmﬁiﬁm
Yo & WG fera wa Ft
qifET W s H feraTer T sr-on & st forEn @ W ¥ W gar I |
37 il
FT-% v R 5w &y 3wt Ay A7 o R 1 v s o o frwr amdnn
&0 FAT-u¥ &7 ¥ s fovar Ay
HYAT SIS T IW-TF A IS T H-T8 WA F et e o B
m-w&mwwh#mmﬁwﬂhmwﬁfmﬁﬁﬁqﬁd
T T 1 wyl-wel sraves @yt wve-gfer &1 Wi aw @z & T 3w wr
o e
Ho Qo AT TX GT FTWHE HE, FHIYRET HORT T He wEW (7 T 8) 1o
RYTQETET 0T FqwHE A Ao T Ao W@ wew F wfafEay § avftiter w1 sy
cd g
wﬁﬂﬂﬁﬁ#’ﬁfﬂ?vﬁmﬁﬁnﬁﬂﬁmmmmmw F I
HIE7 &7 W97 Ay wE
m-gﬁm#'mm*mmmﬁ#wﬁmyn%mm%m
wma?m-wa?mﬁwffﬁ%mﬂ#ﬁ#ﬂ#ﬁﬂm-w*mmwﬂ#w
FRv & srgar o7 @ gy wvT
mm%m%mm@aﬁﬁwaﬂa@ﬁmqﬁﬁwm
T A G T & WY WA W a5 IN TG FH 2
&7 & 1% ¢ AT Wl @ Fen s agen w9 o www §1 a1 av Sl 1 w1 g
1 2 ampR &, ﬁmm%mﬁ#wmw«}mme} eF A g o
% R wmiit
mﬁ%ﬁ!ﬁﬂ-ﬁﬂﬂiw%ﬂmwwﬁmm—m%ﬁmw
& TG &l
qﬂm%m#ﬁ#wmm-wqﬂmmﬁmmit
mmﬁﬁﬂmmmﬁwaﬁﬁmaﬁﬁl



